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1. a. 2C,H,(g) + 560, —
4C0,(g) + 2H,0(g) Example 56
combustion
b. Zn(s) + CuSO4(aq) —
ZnSO04laq) + Cu(s).
single replacement :
c. Clylag) + 2KI{ag) —
2KCl(aq) + Ix(aq)
‘ single replacement
d. 2H,0,(/) — 2H,0() + Os(g)
“decomposition
e. MgCly(s) — Mg(s) + Cl,
decomposition
f. Fels) + Ix(s) — Fel,(s)
synthesis
g. 16Cuf(s) + Sgl/) — 8Cu,S(s)
synthesis
h. CeHq206lag) + 605(ag) — .
6CO3(aq) T 6H20(l) e
combustion | e o
i. FeClylag) + KyS(ag) — i The..equatl_on 453
FeS(s) + 2KCI(aq) 25 3M
double replacement :
j- H2SO4lag) + 2NaOH(ag) —
Na,S0.,(aq) + 2H,0(/)
double replacement, water forming

k. Pb(NOs)alag) + K,CrO,lag) —— Example 57
PbCrO4(s) + 2KNO3(ag)
B R R T R

double replacement
l. - 4Cr(s) + 3SnCl,(aq) —> | .
4CFC|3(0Q) + 3Sn(s) Complete and balar

single replacement aqueous solutions

equatlon i=




ad solution

e the correct formulas for the reactants, and indicate that
lissolved in water:

HCl(aq) + Sr(OH);(aq) —>

- water, hydrogen replaces strontium to combine with the
.. The table in Appendix D indicates that the strontium
‘emains dissolved in the water that was present in the
and the water formed is in the liquid form:

HCl(aq) + Sr(OH),laq) — SrCl,(aq) + H,O(l)

the equation is balanced by using a coefficient of 2 for HCI

2HCl(ag) + Sr(OH),(aq) — SrCly(aq) + 2H,0())

' and Practice

the following equations and classify each of the reactions as syn-
lecomposition, combustion, single replacement, double replace-
 water-forming: B

(g) + O58) —> CO4lg) + H,00) 2,472

+ CuSOylag) — ZnSO4lag) + Culs) 1, 1,1

) + Kl{ag) — KCl(ag) + Iplaq) | 2=2 !

() — HOU) + Oalg) 2,2, |
|2(S) N MQ(S) + Clz(g} U i, |
+ Ipls) — Felals) i b o
+ Sgll) — CuySls) (6,145

20slag) + Oz(g) — COslaq) + Hy_O(l) 1, G, G,6
lag) + KoSlag) —— FeS(s) + KCl{ag)
Jalag) + NaOH(ag) — Na;SO4laq) + HOl) (¢, 2 ol s
Ogslalag) + KoCrOglag) —— PbCrO4ls) + KNOalag) ]' y o
+ SnClylag) — CrClalag) + Snis) &.?'3 ‘f 2. ™
OH(/) + Os(g) — COafg) + H0) 1,2 = 2

3 the equation given the reactants
+ MgSOylaq) —

+ O,(g) —

s) —

9) + KOH(ag) —

o) + Oylg) —>

+ O,g) —

7) + CaCly(aq) —

+ NI(N03)2(aq) e
)4lag) + SrClylag) ——
(ag) + Na,COs(ag) —
+ Sgls) —

() + Oyg) —

+ KNOslag) —

s(aq) + Sr(OH)slag) —

sach eauation in item 2
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. water-forming

C,HsOH(/) + 302(¢) —
2C0,(g) + 3H,0(g)

combustion
Zn(s) + MgS0a4lag) — N.R.
Cd(s) + 0,lg) —> CdO(s)
HgO(s) —> Hgll) + Os(g)
HCl{ag) + KOH(agq) —

KCl(ag) + H,O(/)
C5H12(Z) + O,lg) —
CO,(g) + H,0l(g)
Sr(s) + O.lg) —> SrO(s)
Br,(ag) + CaClalag) — N.R.
Zn(s) + Ni{NOs).laq) —>
Zn(NOs)(ag) + Nils)
ZnS04laq) + SrClzlag) —>
SrSOqls) + ZnCla(ag)
AlCls{ag) + NaCOslag) —
Al,(CQO3)3(s) + NaCllag)
Fe(s) + Sgls) — FeSls)
CeHell ) + O2lg) —
CO.(g) + H20(g)

. Pb(s) + KNO3s(ag) — N.R.

HNOs(ag) + Sr(OH),lag) —
Sr{No;g)z(OQ) + Hzo(l)
Zn(s) + MgS04(ag) — N.R.
2Cd(s) + O,lg) — 2CdO(s)
2HgO(s) — 2Hg(l) + O,(g)
HCl(ag) + KOH(ag) —
KCl(ag) + Hzo(l)
CsHioll ) + 80,(g) —>
5CO,(g) + 6H,0(g)
2Sr(s) + O2(g) — 2SrOl(s)
Bry(ag) + CaCl,lag) — N.R.
Zn(s) + Ni{NO;),lag) —>
Zn{NOs),(aq) + Nils)
ZnS0,4laq) + SrClalag) —
SrS04(s) + ZnCly{aq)
2AIC|3(aq) + 3Na,COs(ag) —>
© Aly(COs)a(s) + 6NaCl(aq)
8Fe(s) + Sgls) — 8FeS(s)
12CO0,(g) + 6H,0(g)

. Pb(s) + KNOzlag) —> N.R.
. 2HNO3(ag) + Sr(OH)z(ag) —>

SH(NOs)(ag) + 2H,0(/
single replacement -

. synthesis, combustion

decomposition

combustion
synthesis, combustion

. single replacement
. single replacement ek -

double replacement
double replacement
synthesis
combustion

single replacement
water-forming
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